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SUM OF TERMS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

Do not worry about your difficulties in Mathematics. I can assure you mine are still greater.
A. Einstein

Given arithmetic sequences and numbers representing sums of the first six terms, match each sequence
with the correct sum of its first six terms.
Arithmetic sequences:

1 a3 = 2, d = −1a1 = 3, a2 = 0a6 = 10, a5 = 11a2 = 5, a6 = 9a2 = 4, a3 = 6a1 = 0, d = −2

2 a3 = 2, d = −1a1 = 3, a2 = 0a6 = 10, a5 = 11a2 = 5, a6 = 9a2 = 4, a3 = 6a1 = 0, d = −2

3 a3 = 2, d = −1a1 = 3, a2 = 0a6 = 10, a5 = 11a2 = 5, a6 = 9a2 = 4, a3 = 6a1 = 0, d = −2

4 a3 = 2, d = −1a1 = 3, a2 = 0a6 = 10, a5 = 11a2 = 5, a6 = 9a2 = 4, a3 = 6a1 = 0, d = −2

5 a3 = 2, d = −1a1 = 3, a2 = 0a6 = 10, a5 = 11a2 = 5, a6 = 9a2 = 4, a3 = 6a1 = 0, d = −2

6 a3 = 2, d = −1a1 = 3, a2 = 0a6 = 10, a5 = 11a2 = 5, a6 = 9a2 = 4, a3 = 6a1 = 0, d = −2

Sums of the first six terms:

A 9−27753942−30
B 9−27753942−30

C 9−27753942−30
D 9−27753942−30

E 9−27753942−30
F 9−27753942−30



Great, now you can try solving one of
the Millennium Prize problems!

You outdid yourself today!You can go celebrate!You are the champion!Good job, buddy!You made some mistakes,
but you still deserve praise.

That was close! Next time you will
shine like a star.

A little harder and you would kill it. Try
it again.

A small step remains,
next time will be glorious!

Great. Next time you won’t make any
mistakes

It’s not bad, but you can do better!Try again, practice makes perfect!All great scientists made some mistakes
in their life. Just like you.

Not bad! In some areas you haven’t got
enough knowledge yet.

To be average, or not to be average?
That is the question.

Ehm, you aren’t Jesus walking on water.
Get back on the ground!

Keep trying. It will be better next time.That was a close shave! Study more,
next time you might not be that lucky to

pass.

Just a little better and you will be
average.

Hey, it could be worse, right?Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

What a calamity!We should blame the weather!For this test - the goose is in the oven!
Try another test.

Do you know that you have to click
on the right answer?




